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QUESTION 1

A client has an application system with two Oracle databases, one SQL server, and a file server. They plan to backup
their data by disk-to-disk backup. Which Lenovo Storage product or solution can meet their requirement?

A. DM3000H

B. DM3000H and SnapCenter

C. a backup server and tape drive
D. DE4000 system

Correct Answer: C

QUESTION 2

Which device can supply power to cameras and other low-power devices over a network cable?
A. NE1032

B. CE0152PB

C. NE0152T

D. CE0128TB

Correct Answer: D

QUESTION 3

A customer needs fibre channel (FC) connectivity for remote offices. Up to 20 FC devices may be connected. No
redundancy is required. Which Lenovo FC offering should you recommend?

A. DB800D
B. DB620S
C. DB400D
D. DB610S

Correct Answer: C

QUESTION 4
What are three reasons to move to a public cloud? (Choose three.)

A. Always the least expensive solution

DCP-315C PDF Dumps | DCP-315C Study Guide | DCP-315C Exam Questions 2/5


https://www.leads4pass.com/dcp-315c.html
https://www.leads4pass.com/dcp-315c.html
https://www.leads4pass.com/dcp-315c.html

https://lwww.leads4pass.com/dcp-315c.html
2024 Latest leads4pass DCP-315C PDF and VCE dumps Download

B. Provides greatest control over customer data

C. Application marketplace allows faster deployment of software and services
D. Offers As-A-Service utility

E. Easier to control and predict cost of technology

F. No infrastructure to own or manage

Correct Answer: DEF

QUESTION 5

Which statement can be used to describe the flexibility provided by Lenovo?

A. Lenovo provides a range of solutions from validated data center solution designs to fully integrated solutions.
B. Lenovo x86 servers are ranked #1 in reliability for 6th straight year

C. Lenovo has 140 current world-record performance benchmarks

D. Lenovo provides a portfolio of storage products from DAS to enterprise, unified DE storage

Correct Answer: B

Reference: https://lenovopress.com/Ip1117-itic-reliability-study

QUESTION 6

Your customer is redesigning their network layout to a leaf-spine architecture. For the top of this three, they want
switches that are able to provide at least 28x 10 Gbps optical ports. Which switch should you recommend?

A. NEO0152TO
B. NE1032

C. NE1032T
D. NEO152T

Correct Answer: B

QUESTION 7

A customer needs shared block storage for an application. They also want to move their Windows and Linux shared
drives onto a storage system. The space required will not exceed 900 TB, and they do not have a storage-intensive
workload. Price is an important concern.

Which storage system meets their needs?
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A. DM3000H
B. DE2000H
C. DM5000F
D. DE40O0OF
Correct Answer: C

Reference: https://lenovopress.com/Ip0911-lenovo-thinksystem-dm5000f-unified-flash-storage-array

QUESTION 8

Your customer uses a Cat6/7 network environment. They need a 10 GbE switch that will allow 23 servers to be
connected with copper cabling using RJ45. Which cost-effective switch should you recommend?

A. CE0128TB
B. NE1032

C. NE1032T
D. CE0152PB

Correct Answer: A

QUESTION 9

Your customer is building a Microsoft Azure hybrid cloud solution. Which Lenovo offering should you propose?
A. ThinkAgile VX

B. ThinkAgile SXM

C. ThinkAgile CP

D. ThinkAgile HX

Correct Answer: B

Reference: https://www.lenovo.com/za/en/data-center/mas

QUESTION 10
What is a characteristic of the ThinkSystem SE350 server?
A. Supports up to 4 sockets

B. Tolerates locations with high-dust and vibrations
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C. Supports up to 24 drives
D. Supports Intel Xeon Scalable CPUs
Correct Answer: B

Reference: https://www.blueconnections.com.au/partners/lenovo-dcg/
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